Unit 8 Day 8 Notes on Solving Quadratics by Graphing KQ ﬁ'

Graph the quadratic function: y = x*—2x-3 by identifying the following:
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Identify the x-intercept(s): **Solve the quadratic by factoring: X* —2X—3=0
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You try!
Graph the following quadratic equation: y = —x*+2x-1 by identifying the following:
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Identify the x-intercept(s): **Double-check by factoring! —x* +2x—1=0
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What if | want to solve a quadratic equation and the x-intercepts are not rational?
Let'slookat X* —4x+1=0. Perhaps our calculator could help us! Take it out .
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Start by graphing|y, = XZ —4x+1
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Let’s do another!

Last one together!

2. Solve 5x* —3x +1=0by graphing.
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And one on your own ...
3. Solve X’ —6X+4 = 0by graphing.
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